]

JAPAA 2 —x-3=09 F 22 a, bt 3x2 +4x+1=09]
a2 cdH W, a+b+c+dY F2?
1

1
1 @-5 O3 ®-; 60

= 1i\/ﬁo]—r
2 9

3x2 +4x+1=09 & 2 alH
x:%o]g;

_1+«/ﬁ+1—«/ﬁ 1 1
= — - 5 !




& A9l a7 o] HE Hot nZdF e HEUT. MR HE =
izt o] & 747t 357H A f, n 9 B2

O 7 @ s @9 @ on

ofl

lo

B

n(n —3)
2
n?-3n-70=0
(n+7)(n-10)=0
n=10(.n>0)

=350|B2




3. °1i}‘%*7§ﬂx2-3x+1=094i}%—‘%aa}&nﬂa+ o] gre?
© 2 @4 ©% @ 8 ® 9

~&B

x=a =Yt A a2 -3a+1=0
1
%hﬁ%ai‘/]'ll‘—‘ﬁa—?,-i-azo




LA-B=3-19=-16

2x2 —6x-5=0
—(-3)+ /(-3)2+10 3+ V19
- 2 )
A=3, B=19




6x2—13xy—5y2:0%1uﬂ,z+29’]%/\}—3“7('\_’—}’
X 0y

11 13 17 23

Onp @3 9O @53

TAE Y 02 U, 6); g
y y
T 2 A 62 - 131-5=0
y
5
(2r-5)(3t+1)=0 .. t:§('.'xy>0)
y+x_2+5_29
"x y 5 2 10




o9

o] 2k

4

a2

lad o, a® +

5

@ 13 ® 15 @ 16 ® 18

@12

tH a? —4a+2=0

] dheys

H

=4

2
a

0°|B2 q+

2

-4+ —

PHL 2 PrH g

a

=42-4=12

2
(a+g> -4
a




7.

OJA A 222 + Ax+ B =09 o] 52 VI3 A W, H% A, B
o gre?

DJA:20, B:4 @ A:20,B:5 ® A:10, B:4

@ A:10, B: -5 ® A:10, B:5

~&B ~

22 +Ax+B=0<S 29 4oz =Y

—-A+ VA2 -8B
N 4
a%%@@a@iﬁ%ﬁﬁ

e
. A=20,400-8B =368, B=4




8.

x>y>0°]_1_l,(x—y)2:xyc’a]‘lﬂ,)—694%}\'—3—?
y
@ V5 @1+ 5 @ 3+ 5
@ 1+ V5 3 3+ V5
2 2
(x=y)? = xy
x% = 2xy +y? = xy
2 -3xy+y? =09 FHE)y? 0 & LpFH
2
om0 gz Nt
y y y
?-3t+1=
-228(=3)
== S
x>y>0°]E§f>1
y
.f_3+\/5
o=




D1 @ 2 ® 3 @)4

oA x2-2x-1=00° x=m S YA
m?2—-2m—-1=0
1+2m=m?,1-m?=-2m

m? 6m m? 6m
% -———=—-—=143=4
14+2m 1-m?2 m2 —-2m +




Hip

29

o, &4 A+ Bl gL

=

Ai@o]
2

X =

@ -16 ® 16 @)20 ® 26

® -20

5lH x2-3x-2=0

& el

3+ V17

3+ V9438

" A+B=20




11.

a7t x®+2x =10 UET o,

® 2 @ 4 ® 6

a® + 202 = a(a® + 2a) = 10a
100 +20 10(a +2)
. = =10
a+2 a+2




